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sthenm (£ D)= oo
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In the opposite figure :

AB//CD > m (£ BAC) = 55°
Then m (£ ACD) = --voeee °
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 In the opposite figure :
AB//CD

» EH is a transversal

sm (£ EFB) = 50° 5 then
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In the opposite figure :
1f: T, // T, 5 then X = oo
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In the opposite figure :
If m (£ B) =60°

sm (£ ECD) =80° »
AB// CD then m (£ E) =
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In the opposite figure :
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In the opposite figure :
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In the opposite figure :
AF /DX // EY // BC »
AX=XY=YC

»AB =12 cm.

Then BE = «-cvevve- cm.
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In the opposite figure :
AC=12cm.
then AB o cessssanes Cm.
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In the opposite figure :

If : BF =6 cm.
’ then M BY =3l dacan doloBtdd Loem.
‘The two triangles are congruent if two sides and -+ in one

of them are congruent to their corresponding elements in the other.
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The number 5% is a rational number if b # oo oooine
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x_3 is a rational number 5 if X # oo
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1.2 5 as a rational number = ----------
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as a rational number in the simplest form
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If% is a rational number »then a # -+
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is a rational number if X # -+

3
 The number x_2
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The number Akl is a rational number if X # o
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The number % is a rational number if XX # -
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X-3

The rational number
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[ A] : Complete the Following : -
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The number that hasn't a multiplicative inverse is -------
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The rational number which hasn't multiplicative inverse ------:---
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'The number which has no multiplicative inverse is -
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The multiplicative inverse of the rational number :3—2 1§ ooeeeeeee
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The multiplicative inverse of 3—%— T JRRRRRR
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The multiplicative i inverse of the rational number = i

ve 5 IS ..........
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[A]: Choose The Correct Answer : -
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The multiplicative inverse of the number | ——é—[ 1§ creeveene
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The multiplicative inverse of the rational number % IS seeeeeees
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The multiplicative inverse of —%— 08 oo
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The multiplicative inverse of the number — 1 is ...............
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The multiplicative inverse of the rational number _73 1S e
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If(%)xn:l sthenn= e
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If the length of a rectangle 5 y (unit length) and its width 2 y (unit lenth) » then its
area = - square unit.
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If the edge length of a cube is 2 cm. » then its volume = -+
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If:5a=1and3b=2sthena—2b= e
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If;a#c:_’)(__yandbzy_x,thenab+(;2= ...............




image60.png




image61.png
If(—3%)><n=—3—§— sthenn = e
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The additive identity element in Q is -
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The additive inverse of the number --------- is itself
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e 1)\2.
The additive inverse of (?) 18 eerseeens
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e . —2\Y.
The additive inverse of : (——3——) 1S rreeeeennen
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The additive inverse of —— | 5 | ----------
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The additive inverse of the number : —2% X (— 5)2 i errerneeens
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|=5]=[2]= woeeeennn
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| % | .......... Zero
(a) < (b) = (c)> =
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|_5|+2= ..........
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X+3.
The number —— x_3 is a rational number if X # ----------
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The rational number ‘51' = Owhen X = eeeer

+X
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[ B]: Essay Problems : -
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Find the result by identifying the H.C.F : 8 (15) + 7 (15) - (15)2
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Use the properties of distribution to find the result of : % X9+ —%— x 8+ % x 4
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Using the distributive property s find the value of : :73 x8+5x "7—3 + 172
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Use the distribution property to find the value of : —‘9£ x 7T+ % x 2
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2 Y. 13
Find the result:(§ + 5) o
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Find :
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